______________________________________________________________

Excel #5 – spring 2020
Aggregate Supply and Aggregate Demand

______________________________________________________________ 

Please make sure you retrieve the excel spreadsheet that accompanies this assignment! The data should appear as below:
	Real GDP
	AS-Price 
	AD-Price
	AD-P2
	AS-P2
	CAP

	0
	0
	24
	30
	0
	8

	5
	2
	20
	26
	4
	8

	10
	4
	16
	22
	8
	8

	15
	6
	12
	18
	12
	8

	20
	8
	8
	14
	16
	8

	25
	10
	4
	10
	20
	8

	30
	12
	0
	6
	24
	8


Step1:  Examine the aggregate supply and aggregate demand data presented in the spreadsheet.  Visually determine the equilibrium quantity and price when AD-P1 and AS-P1 are the relevant demand and supply curves.
Step 2: Now find the equilibrium when the AD curve shifts upwards (AS-P1 and AD-P2). Take note of what has happened to both prices and real GDP.

----------------------------------------------------------------------------------------------------------------------------- 

Using Excel to Find Equilibrium:
Step 1:  Highlight the first three columns of data.  Click on “insert” and create a scatter plot graph.  Make note of the equilibrium price and quantity.
Step 2:  Now highlight the first 4 columns of data (including two different observations on demand).  Once again, click on insert and choose scatter plot.  Note that you have graphed an increase in aggregate demand (this is shift #1).

↔Print this graph↔
Step 3:  Return to your spreadsheet and graph AD-P1, AS-P1 and AS-P2 on the same graph.  Take note of what has happened to supply (shift #2).

→Insert the line represented by the data in column F.  Suppose this represents a freeze 
on the price level.  Note what happens to the level of GDP on the supply and demand 
sides.  In 1971, then President Nixon imposed a freeze on prices and wages.  Think 
about what would happen to the macroeconomy.
↔Print this graph↔
Questions:
1. What are the equilibrium values for price and quantity:
a. Under the initial equilibrium____________?

b. After the shift in aggregate demand (shift 1)________________?

c. After the shift in aggregate supply (shift 2)_________________?

d. After the imposition of fixed prices (note that your quantity for supply and demand are different)____________________________?

2. Give two examples of what could cause an aggregate demand shift like the one you saw in shift #1.
3. Give an example of what might cause a change like that you saw in shift #2.

4. What is problematic about wage and price controls, given your results (when the price level is frozen at 8)?

5. In shift #2, what problems are caused for the economy?   How might the government respond, and what are the consequences of that response?
